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GENERAL INSTRUCTIONS TO THE EXAMINEES :
‘ 1. TIENH] WRAH w9 WeATH W AW Afar: i
Candidate must write first his / her Roll No. on the question
paper compulsorily.
All the questions are compulsory.
Write the answer to each question in the given answer-book
only.
4, fon gl § smafi vz €, 35 w9 % 390 o w9 w6 e
For questions having more than one part, the answers to those
parts are to be written together in continuity.
5. WA YA %k fe<l 9 AU w9 H TREl ¥R 1 AL / Ha / fadiEnaE
B W el W yeR w1 E wel W
If there is any error / dilference / contlradiction in Hindi and

English versions ol the question paper, the question of Hindi
version should be ireated valid.
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6. @Ug WY e 3ieh Urdleh WoA
A 1-10 1
B 11 - 15 2
C 16 - 25 3
D 26 — 30 6
Part Question Nos. Marks per question
A 1-10 I
B 11 - 15 2
C 16 - 25 3
D 26 - 30 6

7. T EHE 289 30H A faweq ¥
There are internal choices in Question Nos. 28 and 30.

8. A IW e F TEi F O o fafan | 9t w5 w5 A,
1 ST-TfEH % afa T9 91 Y 5t o et andl | s T oW
“TEwE form €
Wrile on both sides of the pages of your answer-book. If any

rough work is to be done, do it on last pages of the answer-book
and cross with slant lines and write ‘Rough Work’ on them.

9. NI FHF 26 FH @@T A% U T a9E |
Draw the graph of Question No. 26 on graph paper.

EE - A

PART - A
TR 481 7.5.3,1,-1,-3, ..... 1 TE TS 1 HIEAT |
Write the common difference of the A.P. Fazhds To=T1a=80 = .

g (-5.4) #1 x28 § =70 faf@u |

Write the distance of the point (- 5, 4 ) from x-axis.

@ T 4 4x + 2y = 5341 x - 2y = 0 F 7 feAfEn |

Wrile the solution of the pair of linear equations 4x + 2y = 5 and
x—2y=0.

Auroa TorEvE fafy g 96 3R 404 =1 HOF Im FifEw |

Find the HCF of 96 and 404 by the Prime Factorisation Method.

e FiTe |

One card is drawn from a well-shuffled deck of 52 cards. Caleulate
the probability that the card will not be an ace,

A K (5, 4) T@rds pQ 1w fag £ aar @ ¥ Fdwiw (2, 3)8 @ PH
w5 =wifem |

If K (5. 4)is the mid-point of the line segment PQ and co-ordinates
of Qare (2, 3), then find the co-ordinates of point P.

A fag R | 0 F= 9 fFdl 95 ™ RA 7 RB w19 YErd w6 ¥ wm
A B A £ AOB = 40° B A FW 0 F1 9H TG FL |

If tangents RA and RB from a point R to a circle with centre O are

inclined to each other at an angle of 8 and ~# AOB = 40 then find the
value of 0 .
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12.

13.

14.

15,
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4ﬁtﬁﬁmﬂmﬁﬁmﬁmﬁmﬁﬁﬁmfﬁ=ﬁWﬁWaﬂaﬁﬁmaﬁm
How many tangents can be constructed to any point on the circle of
radius 4 cm ?
14 HH S G g F1 9 Jd S |
Find the circumference of a circle whose diameter is 14 cm.
e rﬁ'ﬁﬁ“?ﬁﬁ@'@@ﬁ'ﬂﬂﬂmmﬁ g &, =19 W1 TR W
HiTaa |
Write the length of an arc of a sector of circle with radius r and angle
with degree measure 8.
ECERES <]

PART - B
famm=y % sin 28" cos 627 + cos 287 sin 62" = 1.
Show that sin 28" cos 62’ + cos 28" sin 62" = ],

tan 87 = mm 3 i |

cot 23
- _ tan 67"
Find the value of ol 23"

i 2 .
i g et A = o A & W 9w |
1 +tan® A
l —tan 2 A
If3 cot A =4, then evaluatle —w—

1 +tan® A
¢ w4 T was w4 e F SR 1 ¢ f9eE IR uF wee d9ad
e & | s e F e 7 A ¥ o E wEA (T ) B FE SR
137 & | TR 9¢9 F AEIE TEE dAwe 7 Ry |
A vessel is in the form of a hollow hemisphere mounted by a hollow
cylinder. The radius of the hemisphere is 7 cm and the total height of
the vessel is 13 em. Find the inner surface area of the vessel.
st # # £OKS 3 ZROP %1 AF 36 Hitorg, 4fg f14s A OPR ~ A OSK
A~ POS = 125 #T ~ PRO=70" ¥ |
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18.

19.

20.

21,

4

In the figure, A OPR ~ A OSK , £ POS = 125" and # PRO = 70". Find
the values of ~ OKS and 2 ROP,

EHWE-C
PART - C

2
l1-tan A
Egmﬁ[l.}_colﬂ—‘ ='[3.n2;"1.

1-tan A |2 D)
Prove that | T ol A =lan “ A.

3xd 4 x2 4 2x + 5 1+ 2x + x 2 H 9w AT |

Divide 3x2 + x2 4 2x + 5 by 1+ 2x+ x2.

T Fifau fF 2 UF duitEg 9= §

Prove that v 2 is an irrational number.

A BT IR TIaY %+ fogs 72 fou 9d @ifs 331 9 8171 /7

How many terms of the A.P. 17, 15, 13, ...... must be taken, so that
their sum is 81 ?

TS 81 % Yo & OF 95 9 76 F 59pE AN F agTas w2 w9 300 3R
45" ¥ | 9t 9@ fFanl § 4 Hiex =1 596 WA, 9 T2 F1 92E 99 Sy |
From a point on a bridge across a river the angles of depression of the
banks on opposite sides of the river are 30" and 45 respectively. If

lli'le bridge is at a height of 4 m from the banks, find the width of the
river.

W smFEA T O TF FH T F= T 99F 9@ fag K 9 99 WA e wmn
KR, Ks == 72 ¥, & fag wifew f% KR = KS.
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22,

23.

24,

25.

26.

5

In the given [igure. O is the centre of a circle and two tangents KR.
KS are drawn on the circle from a point K lying outside the circle.
Prove that KR = KS.

=5

R
4 [T, 5HA AT 6 TH waﬁmﬁwﬁgﬁﬁmmﬂ#mﬁ
mﬁtﬁﬁmaﬁmﬁmﬁaﬁr&'ﬁ:ﬁﬂﬁﬁwaﬁmﬁﬁaﬁ%ﬁ
il
Construct a triangle of sides 4 cm, 5 cm and 6 cm and then a triangle

similar to it whose sides are g time of the corresponding sides of the

given triangle.
7 &l foro At g9 H w1207 % 6 1 FeEars w B=Re A I |
Find the area of corresponding major sector of a circle with radius
7 cm and angle 1207,
1t farea @i o S T A T UH O FOUH GAE A15%E a6 18 7
= T AT & 9§ age 9E E | A F A 9 F# e |
A copper rod of radius 1 cm and length 2 cm is drawn into a wire of
length 18 m of uniform thickness. Find the thickness of the wire.
S 3 o o E | 5TE o a1 wifasang s H
W e 5 feam fim-fae =
(i) o 9 fead WHE A
Neeraj and Dheeraj are friends. Find the probability of their birthdays
when
() birthdays are different.
(iii birthdays are same.
TS -D

PART - D
5 38 St 3 T 1 FE Ued 3579 & walw 2 ¥ A 4 T H] F A
08 TIH § | 3 TEE H w1 H =5 % W i | g w e

The cost of 5 apples and 3 oranges is Rs. 35 and the cost of 2 apples
and 4 oranges is Rs. 28. Formulate the problem algebraically and

solve it graphically.
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27, H AR A2 st fon 9w # we 18 5 wve & sgEr 12 5
M % WfThe ST H, 981 g U agge 90 #t s %maaﬁ:r%ﬁﬁ
€ | YW &1 916 T8 Fe |
The speed of a beat in still water is 18 km/h. It takes%an hour extra

in going 12 km upstream instead of going the same distance
downstream. Find the speed of the stream.

28. ¥ ABCD % ¥= feum 0 #r fag 2, fog =ifs .
oB2+0D2 =0a? +0c?

A D

B R
o

B e

O is any point inside rectangle ABCD. Prove that
oBZ+0D? =0a? +0c?

A D
P R
0
B &
HYSAT

e # &t 7 e o %: % € 791 £ PKT = £ PRS ¥ | Tag #ifsu
A PSR TF HHfg=ME fAys T |

K T
S R
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In the given figure, % = % and Z PKT= Z PRS . Prove that A PSR

is an isosceles triangle.

P
K T
S R
0g. K @ Hm 3w witag, A fag A (2.3), B (4 k) 3R C (6. -3)8HE
T
Find the value of k if the points A [ 2, 3), B(4, k)land C (6. -3 ) are
collinear,

30, ﬁqéﬁmmmmwmm}maﬁm:

=t s | 10 - 25 | 25 - 40 40 - 55|55 -70| 70 - 85 85 - 100

FHEATA 2 3 & B ]
A9rEr

S H2 1 AEeTE T R

=7 afae | 0 - 20 | 20 - 40 m—an[ea—sa 80 - 100 | 100 =120
LTI 10 35 52 61 38 20

In the following distribution calculate mean x from assumed mean :

Class- 10 — 25 | 25 - 40 | 40 - 55 55— 70 | 70 - 85 |85 - 100

interval

3 7 5 6 i
OR
Find the mode of the {ollowing distribution :

Frequerncy 2

Class- 0-20 | 20-40 | 40 - 60, 60 - 80 | 80 - 100 100 - 120

interval
Frequency 10 35 52 61 | 38 20
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